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Dy Ravieigh's method, compute the period of vibration of the uniform beam
el - o 2 ‘.‘ .:._.1; . b, - _. 4 . % - :
supporting a central mass my shown inSg=3D=8, or e assumed shape, use
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he deflection produced by a centeal load p; 1.2, via) = po{3L° — 47}/ 45.0
for » < L/2, Consider the cages: {a) m
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Asstmed shape
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suming the girder 10 be rigid and the deflected shape of the columns to be
that due to a lateral load p acting on the girder v{z) = p({2L° - 3L%2 +
22V /12E];
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(b} What fraction of the total column weight assumed tumped with the girdes
weight will give the same period of vibration ag was found in part a7
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The shear building ot

For the given mass and stiffness properties, and assuming & .]i?ﬁ&f i,:iit;i?]' shape
{as shown}, evaiuate the perind of vibration by: RG\}* leinh 3 mﬁﬁ"'m@)ﬁ
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